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Case 1 - The Campus Wedding


A.

1.  Network diagram is attached.

2.  The critical path is as follows:

Start > Choose Pattern > Lace from NY > Work on Dresses > Final Fitting > Clean and Press > Finish

3. The minimum-cost plan that meets the April 22 date is $1040.  The following chart lists the added costs by activity, along with the number of days saved.
	Activity
	Cost
	Days Saved

	Reserve Church
	$100
	7

	Lace From NY
	$25
	3

	Work on Dresses
	$600
	5

	Clean and Press
	$30
	1

	Printing Invitations
	$35
	7

	Mail Invitations
	$200
	Allowance for 2-days late

	Address Invitations
	$50
	2


B.

1. If the chairman of the Vestry Committee was not satisfied with the $100 contribution, and did not reduce the notice period to 10 days, the rehearsal dinner and the wedding would both have to be postponed one day.

2. If the bridesmaid could not possibly leave until April 10, she would then have to fly and arrive on April 12.  This adjustment would cost the family and extra $500.  The increase in cost would raise the total cost of the wedding from $1040 to $1540.  The new total is more than what the father offered for the two to elope, albeit it is a small difference.

3. If Mother came down with the infamous “four-day flu” just as she started on the guest list, it would have no affect on the wedding.

4. If the lace and dress materials were lost in transit, and could not be reordered until April 10, the entire wedding would be postponed until April 28.  The reason for this is because the lace and dress materials delivery is a node on the critical path.

5. If there was a small fire in the caterer’s shop on April 8 and there was a 2-3 day recovery period, the wedding would not be affected since the caterer only requires 10 days notice previous to the event, which would occur on April 10 or April 11.

